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30100 W I A 10 1,296 146 146 65 | B 104
31100 H3E 105 6, 588 1, 404 864 864 | BN Tr—2=A
31200 (L 4 1,296 65 65 65 | P 20K
31412 U EHE 1 346 86 86 86 | BN 445
32600 #% 3 1,037 65 65 65 | B 167K
31700 % ¢ X 70 12, 528 1,944 1,944 1,512 BN T — A
31800 I NAE 6 3, 564 140 140 108 | &M 2948
31800 1FH AR 21 12,182 130 108 108 | BN 10538
31900 ¥ 6 4,936 864 702 702 | BN 6kg
31900 H¥ 1 756 76 76 76| BH 10%%
35220 X MASRBE 16 15, 554 5,833 5, 833 1,944 | BN 410
35220 X M EBE 7 6,372 972 864 756 | B/ Tkg
35300 E'—2 3 3,931 1,512 1,512 1,512 | BW 3kg
35303 RAF v TEXAED 198 134,984 | 57, 489 7,746 1,549 | BH 61l
35303 (A} v SEZAE D 15 9, 374 756 594 432 | BN 15kg
Y3033  ZZHHAL 49 4, 255 108 108 65 | BN 49kg
36200 HBHHE 20 2, 484 130 130 119 | B 20kg
33200 HUTTU— 54 54 54 54 | BN 148
33200 BV T FU— 1,026 140 108 108 | B 9fA
33300 Tmyal— 1,123 86 86 65| B 141#
33300 Toyvaly— 95 36,018 389 378 356 | B 95kg
33303 A7 4y Tuyal 2,527 97 97 97 | B 2642
Y3017 iE® Y 2,160 1, 080 1,080 1,080 | B 2kg
Y3030 %Ak (%) 5, 184 1,728 1,728 1,728 | BN 3kg
36340 |ELNRBHE 16/ 4, 493 324 324 238 | BN 16kg
46108 | I IO 32 42,136 410 410 356 | &N 10573 7
71150  LiT 2, 052 76 76 43 | B 347
Y5001 KABIEE 248 108 108 108 | BH 2kg
Y3019 (HFD Y 6, 394 1,728 1,728 1,728 | BN 4kg
Y5009 }i’%%@ﬁcﬂﬁ 28 9,212 356 356 270 | BN 28kg
30100 |72V Z A L 10 1, 080 108 108 108 | EEIR & 104
30100 |72V A B 10 594 594 594 594 |FEIR B 148
30300 A% 48 11, 664 97 97 97 | B I 12048
30300 A% L 50 10, 584 2,160 2,160 1,944 |BEA 54— R
30300 : AZ B 10 702 702 702 702 | E IR 17 —=
30300 |AZ B 30 2,916 1,836 1,836 1,080 | EIRE 24— R
30400 | ZiEH 9 1, 858 43 43 43 | dbHEE 4348
30400 (ZiE S 40 4,320 1,080 1, 080 1, 080 | & 44— R
30400 ZIED 8 5, 238 140 130 130 | &I 404%
31100 'B¥ 45 4, 698 1,566 1,566 1,566 | =I5 34— 2
31100 A 225 ~ 10,584 1, 080 756 324 |EIRE 154 — %
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33810  HHEE 8 6,912 3, 456 3, 456 3,456 |25 24— A
32600 | FH 4 3, 240 3, 240 3,240 3,240 EIRE 17—
32600 (HFH 1,728 108 108 108 | R & 164%
31700 ¥ ¥~ 100 19,656 |  2,052| 1,944 1,944 |EIRE 1047 — A
31950 HAE 22 4,212 65 54 54 | =TI 733
31950 HAE L 15 5, 400 1,080 1,080 1,080 | BV & 57—
31900 fa¥ 3, 240 324 324 324 IR B 103 (500g)
31930 | Zh¥ S 4,536 4,536 4,536 4,536 |18 1 —2 -
32800 {25 S 4, 806 97 97 92 | B iy 503K
34300 1723 3L 25 9,936 2,160 2,052 1,836 | HEA 57— A

34400 k= b 14 7,258 151 151 151 |REA 48,5 7

134400 k< k 12 4, 860 1,728 1,728 1,512 |BEIRE 34—
34460 I =L F kL M 5 4, 406 184 184 184 | IR G 243y 7
34100 K 63 29, 808 173 130 130 | & I 2104

34100 | #HI B 40 17, 280 2,160 2,160 2, 160 | ‘=i 84— R
34100 A B 15 2, 592 864 864 864 | IR RE

| 34200 RN 40 9,936 2, 484 2, 484 2,484 A ¥ o 4 —2R
34500 B —~ 14 12, 096 86 86 86 | = IAF 14048
34571 X7V A GR) 1 907 130 130 130 | #&[F &
34572 7Y B (&) 1 1, 058 151 151 151 |$&[F @
36600 T-EhX LK 100 13, 824 2,808 2,808 2,700 | Atz 54— R

133400 L& R 6 1, 404 1, 404 1,404 1,404 R B 17r—=
32900 B Y — 1 216 216 216 216 | f& ¥
33600 %k Y 1 648 162 162 162 | #& [ 44%

38100 A LU =it 9 10, 260 140 108 108 | BT I 85,8 7

Y3137 Ty ALRL 2 907 76 76 76 | K45y 1248
31500 /A 4 3, 564 3, 564 3, 564 3,564 |EIRE 1r—=
31500 /hiA3E 4 2,160 108 108 108 \BEIR & 204%
32500 HIE 2 972 65 65 54 | K% 1676
36340 L NZE¥E 63 13, 422 130 104 104 | & 16 1264%

1 37560  BRIT 1 1, 080 108 108 108 | K4y 103> 2
47490 R A T 2L 5 1,620 324 324 324 |REA 5{8
49200 SA LT v TSI 8 1,166 292 292 292|740y 4fA
49300 X4 T — 5 2,916 2,916 2,916 2,916 | f&H] 17—

&t 1,822 596, 374
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